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Addition word problem: Sums up to 10

& . .
- In each case solve and answer in the spaces prowoleol.

lvlummg bought 2 cupcakes for me and 5 for my elder
brother. How many cupcakes did mummy buy o|together?

» Emmanuel has 4 pairs of shoes and her sister has 5. How

many pairs shoes do they have in dll ?

» | have 3 pencils. This morning my friend gave me 2 more

&

pencils. How many pencils do I have now ?
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Addition word problem: Sums up to 10

Y,
- In each case solve and answer in the spaces provided.

—)> Ivlummg bought 2 cupcakes for me and 5 for my elder
brother. How many cupcakes did mummy buy oltogether?

goats pigs total

- 2 cupcakes
2 |+]| 5 7

- 5 cupcakes

*—>» Emmanuel has 4 pairs of shoes and her sister has 5. How

many pairs shoes do they have in dll ?

oranges cherries total

4 + 5

- 4 pairs of shoes

Il
\O

- 5 pairs of shoes

\

» [ have 3 pencils. This morning my friend gave me 2 more

&

pencils. How many penci|s do I have now ¢

opples pineopples total
3 + 2 5

- 3 pencils

- 2 pencils
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